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1
The scores on a test have a normal distribution.  The mean of the scores is 40 and the standard deviation is 6.  The probability that a score chosen at random lies between 34 and 46 is closest to

2
The average score for a Latin test is 77 and the standard deviation is 8.  Which percent best represents the probability that any one student scored between 61 and 93 on the test?

3
If the amount of time students work in any given week is normally distributed with a mean of 10 hours per week and a standard deviation of 2 hours, what is the probability a student works between 8 and 11 hours per week?

4
The lifespan of a 60-watt lightbulb produced by a company is normally distributed with a mean of 1450 hours and a standard deviation of 8.5 hours.  If a 60-watt lightbulb produced by this company is selected at random, what is the probability that its lifespan will be between 1440 and 1465 hours?

5
The weights of bags of Graseck's Chocolate Candies are normally distributed with a mean of 4.3 ounces and a standard deviation of 0.05 ounces.  What is the probability that a bag of these chocolate candies weighs less than 4.27 ounces?

6
A set of normally distributed student test scores has a mean of 80 and a standard deviation of 4.  Determine the probability that a randomly selected score will be between 74 and 82.

7
The amount of time that a teenager plays video games in any given week is normally distributed. If a teenager plays video games an average of 15 hours per week, with a standard deviation of 3 hours, what is the probability of a teenager playing video games between 15 and 18 hours a week?

8
A shoe manufacturer collected data regarding men’s shoe sizes and found that the distribution of sizes exactly fits the normal curve.  If the mean shoe size is 11 and the standard deviation is 1.5, find:

a the probability that a man’s shoe size is greater than or equal to 11

b the probability that a man’s shoe size is greater than or equal to 12.5
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9
Two versions of a standardized test are given, an April version and a May version.  The statistics for the April version show a mean score of 480 and a standard deviation of 24.  The statistics for the May version show a mean score of 510 and a standard deviation of 20.  Assume the scores are normally distributed.  Joanne took the April version and scored in the interval 510-540.  What is the probability, to the nearest ten thousandth, that a test paper selected at random from the April version scored in the same interval?  Maria took the May version. In what interval must Maria score to claim she scored as well as Joanne?
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3
ANS:


53.2%
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4
ANS:


0.8415

[image: image3.png]M & | #/ | Scratchpad <

normCdf(1440,1465,1450,8.5)  0.84149





REF:
081604aii

5
ANS:


0.2743
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0.5, 0.159, [image: image7.png]


.  [image: image8.png]



REF:
010327b

9
ANS:


normcdf(510, 540, 480, 24) = 0.0994  [image: image9.png]510-480
£

540-480
i

125

25




  [image: image10.png]x-510
20

x=535

125=




  [image: image11.png]


  535-560
REF:
fall1516aii


